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Note: The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e : ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

 Section - A 10 × 2 = 20
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e : g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1) (i) Society is Abstract or Physical?

  g‘mO A‘yV© h¡ ¶m ‘yV©?

 (ii) Who said that society is a cooperation which passes 

through conflict?

  {H$gZo H$hm {H$ g‘mO EH$ gh¶moJ h¡ Omo g§Kf© Ho$ ~rM go JwOaVm h¡?

 (iii) Give one example of associative process.

  gh¶moJmË‘H$ à{H«$¶m H$m EH$ CXmhaU X|&

 (iv) Name a conflict theorist.

  EH$ g§Kf©dmXr {gÕmÝVH$ma H$m Zm‘ {bI|&

 (v) Who said that history of all hitherto existing societies is 

the history of class struggle?

   {H$gZo H$hm H$s A~ VH$ Ho$ g^r g‘mOm| H$m B{Vhmg dJ© g§Kf© H$m 
B{Vhmg h¡?

 (vi) Who is the author of famous book ‘Folkways’

  à{gÕ nwñVH$ "’$moH$doµO' Ho$ boIH$ H$m¡Z h¢?

 (vii) Name any two social institutions.

  Xmo gm‘m{OH$ g§ñWmAm| Ho$ Zm‘ X|&

 (viii) What is polyandry?

  ~hþn{V {ddmh ³¶m h¡?

 (ix) Give any two examples of a secondary group.

  {ÛVr¶H$ g‘yh Ho$ H$moB© Xmo CXmhaU X|&

 (x) What is material culture?

  ^m¡{VH$ g§ñH¥${V ³¶m h¡?
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 Section - B 4 × 10 = 40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e : {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2) What do you mean by ‘a society’?

 "EH$ g‘mO' go Amn ³¶m g‘PVo h¢?

3) What do you mean by dissociative process?

 Agh¶moJmË‘H$ à{H«$¶m go Amn ³¶m g‘PVo h¢?

4) Can social change be managed?

 ³¶m gm‘m{OH$ n[adV©Z H$m à~§YZ {H$¶m Om gH$Vm h¡?

5) Differentiate between competition and conflict.

 à{VñnÕm© Am¡a g§Kf© ‘| A§Va H$a|&

6) Describe the characteristics of social institutions.

 gm‘m{OH$ g§ñWmAm| H$s {deofVmAm| H$m dU©Z H$a|&

7) Write a note on hypogamy.

 à{Vbmo‘ {ddmh na EH$ ZmoQ> {bI|&

8) What do you mean by secondary group?

 {ÛVr¶H$ g‘yh go Amn ³¶m g‘PVo h¢?

9) Do you agree the culture is a modified form of nature?

 ³¶m Amn gh‘V h¢ {H$ g§ñH¥${V àH¥${V H$m g§emo{YV ê$n h¡?
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 Section - C 2 × 20 = 40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  : {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10) What do you mean by process of social change? Describe 

main characteristics of social change.

 gm‘m{OH$ n[adV©Z H$s à{H«$¶m go Amn ³¶m g‘PVo h¢? gm‘m{OH$ n[adV©Z 
H$s ‘w»¶ {deofVmAm| H$m dU©Z H$a|&

11) Can it be said that social system is a super organic structure? 

Justify your opinion.

 ³¶m ¶h H$hZm C{MV hmoJm {H$ gm‘m{OH$ ì¶dñWm EH$ nam-O¡{dH$ g§aMZm 
h¡? AnZo {dMma H$mo Ý¶m¶g§JV VarHo$ go ì¶º$ H$a|&

12) What do you mean by family? Explain the merits and demerits  

of Indian joint family.

 n[adma go Amn ³¶m g‘PVo h¢? ^maVr¶ g§¶wº$ n[adma Ho$ JwUm|-AdJwUm| 
H$s ì¶m»¶m H$a|&

13) What is socialization? Elaborate upon the influences of primary 

group on the socialization of individuals.

 gm‘mOrH$aU ³¶m h¡? ì¶{º$¶m| Ho$ gm‘mOrH$aU na àmW{‘H$ g‘yh Ho$ 
à^mdm| H$mo g{dñVma g‘PmBE&


